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Instructions : - 1. Check the question paper for fairness of printing. If there is

any lack of fairness, inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to

draw diagrams.
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Note :- This question paper contains four Parts
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Note: i) Answer all the questions.

ii) Choose the most suitable answer and write the code with
the corresponding answer.
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ii) Baan  Qur@Gsswrear afleoLullsner CaiHosHS3)
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1. To project the rockets which of the following principles is / are required?
a) Newton’s third law of motion

b) Newton’s law of gravitation



c¢) Law of conservation of linear momentum

d) Bothaandc
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. Kilowatt hour is the unit of

a) resistivity | b) conductivity

c) electrical energy d) electrical power
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element emits its radiation spontaneously

a) Ni b) Pd c) Pt du
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. Which of the following is a triatomic molecule?
a) Glucose b) Helium

c) Carbon dioxide d) Hydrogen
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is an important metal to form amalgam

a) Ag b) Hg c) Mg d) Al
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. The component present in lesser amount, in a solution is called

a) Solute b) solvent c¢) Solution d) Colloid
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. A patient with blood group ‘O’ was injured in an accident and has blood loss. In

this condition the doctor should effectively use blood group for

transfusion.
a) ‘O’ group b) ‘AB’ group
c) ‘A’ or ‘B’ group  d) All blood group
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Excessive consumption of alcohol leads to
a) Loss of memory b) Cirrhosis of liver

c) state of hallucination  d) Suppression of brain function
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is formed during anaerobic respiration

a) Carbohydrate b) Ethyl alcohol

Ic) Acetyl CoA d) Pyruvate
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10. Casparian strips are present in the of the root.
a) Cortex b) Pith c) Pericycle d) Endodermis
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11.The soft finely stratified sedimentary rock refers to

a) shale b) petroleum c) methane

d) coal
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12. Al files are stored in the

a) Folder b) box c) paint d) scanner
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Note :- Answer any seven questions (Q.No : 22 is compulsory) (7x2 =14)
GULY - aeauCueid 7 aflarrésense ol weaflbsaib.

(afleor erevor © 22 & sL_LTwiors ugeeaflssea)ib).

13.State Newton’s second law
Byl L esfleir @)rewrmid aflglullener & mis.
14.What are the causes of ‘Myopia’?
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15.What is the minimum distance needed for an echo?
aFOrredls@s Csamanuret GmnhsUL &6 ClFTameva eTeiTer?
16.Why does the rate of a reaction increase while raising the temperature?
Geauliu Blewevenw FlalsE@Gn Curg allewearulsit Goausd 9 FaMsEns. 6reir?
17.Differentiate soaps and detergents
Gamriiy wHm) 14 TEeT v CoumLiBHSSId%.
18.Write the dental formula of rabbit
(LpwedledT LIV euMUILILITL 1g 6D 6T (LS5,
19.What is Bolting? How can it be induced artificially?
‘GuIreDIg B’ TETMT6L 6T6ITET? YySeWeT 6Teueurm) QFWHMSWITS 201 @ aildEseTd?

20.Identify the parts A,B,C,& D

Car®assiiul_Hsrer uL_ggled A,B,C wmmib D gdlw ursnigsemer gepL_wrerid

STERTOLD.




21.How can you determine the age of fossils?
yewg 2 uilils Ligeuki&eafler &TeVdbens eTeuauTm HenTddlL_eUmrd?

22.A charge of 10 coulomb flows through a bulb in 5§ second. What is the current
through the bulb?
10 s giib WlsiTenmi L _1b 5 eflpmiy Crrid g e eflerddleir suflwirs LTS g
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Note : Answer any seven questions (Q.No : 32 is compulsory) (7x4 =28)

GUILY :  aaauGugyid 7 allaTrésens@ alleweflésayn (aflerr srei : 32 &g

SLLmwiors uglevefldseayi).

23. State and prove the law of conservation of linear momentum
2 % wrPUTL_Hd CaTiemLurl e dnp) semer Cowiliiléss

24.i) Draw a ray diagram to show the image formed by a convex lens when the
object is placed between F and 2F.

ii) Define one calorie.
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i) pm sBeur) susHrwmy.
25.1) How many electrons are passing per second in a circuit in which there is a
current of 5A?
ii) Mention two cases in which there is no Doppler effect in sound -
i) 5 gyotilwi WerGarmi_Lib umTwib f WearaEnmle @, allarry CHrsgley LM
6TEUG LT 6T & 61637 6TERT6suT1&56ME DI & 6WTH B (D,
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26.Derive the relationship between relative molecular mass and vapour density.
UL PG M Blewma G el YL TSSEEG0 2 srer ClgTLiLileneT sumail.
27.How is metal corrosion prevented?
2 Geors 9 flrardans 5BHGGD (pewmasener afleuf].
28.With a neat labelled diagram explain the structure of a neuron.
plurreflsr gewlioud 5Gbs uLbgiLer allaifl.
29.a) Read the following content and answer the questions below.
Pure — bred tall Pea plants are first crossed with pure - bred dwarf pea
plants. The pea plants obtained in F1 generation are then cross — bred to produce
F2 generation of pea plant.
i) What do the plants of F1 generation look like?

ii) What is the ratio of tall plants to dwarf plants in F2 generation?



iii) Which type of plants were missing in F1 generation but reappeared in F2
generation?
b) Why is the sino - atrial node called the pacemaker of heart?
9)) Qar@ssiiul L uGdleww U sk HCY CasTHESLILLL aflaTTdsEndE
aflew_wiefldsaLb.
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30. Differentiate the following
i) Monocot root and Dicot root
ii) Aerobic and Anaerobic respiration.
Caupiur® 5ms.
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31.()) What precautions can be taken for preventing heart disease?
(i) Name two maize hybrids rich in amino acid lysine.
). @sw Crriiser sHLB MBS SHHS CLDEETTERLD (PaiTblerTd &% emn s
BLAIY EDEHDENS o )15,
ii). swevFeir YLAGerT YLflevid CFMhe @B)ressT® WwaHETECFTET GevLILjuilm
auem&aaflesT QLD 6T(PSIS.
32. (i) Write the features of Nuclear fission and Nuclear fusion.
(ii) Calculate the pH of 0.01M HNO3?
(). oesba@ dora) wHDIb SjgmIss® GlomamaissT saTawHmeT TL5Is5.

(ii). 0.01M HNO3 sswraedlsir pH iy srewrs.

Part - IV
ugg - IV (3x7 =21)
Note D - 1. Answer all the questions.

2. Each question carries seven marks.

3. Draw diagram wherever necessary.

epluy - 1. gwears5g aflaTrésend@d allenL_wefldsseyLb.

2. geubleurm eflerrallh@Lb 671 WHIIGLITEST

3. Gsmeauwrar @)L_misefle) LL b susnrs.



33. (a) (i) State Boyle’s law
(i) Explain the experiment of measuring the real and apparent expansion of a
liquid with a neat diagram.
(i) uruile aNglewwd o mis.
(i) Sreusdlsir 2_asreno Geutiu ailfley wHmib CsrHm Glauliu ailflalsnesr
IerallHi CergemaTenw Cgafleurar LL_ gL eT aileur].

(OR)

(b) (i) A source of sound is moving with a velocity of 50ms-! towards a stationary
listener. The listener measures the frequency of the source as 1000Hz. What will
be the apparent frequency of the source when it is moving away from the listener
after crossing him? (Velocity of sound in the medium is 330 ms-1)
(i) Calculate the velocity of a moving body of mass 5kg whose linear momentum
is 2kg ms-1.
i) 9 960 cpsvwrearg 50 fall-! FewsGaussdlsv @iie) Blewauilsy o arer
Cal@gmewy Curad pashANGl. CaHL_GBITed o _eaTriiL®D 6 epsvddlesr
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34. (a) i) Calculate the mass of 1.51%1023 molecule of H20.

if) Calculate the moles of 46g sodium

iii) Calculate the number of molecules present in the 36g water.

9. 1) 1.51%102 epevsanm st (H20) BHlewmenwis sresvrs.

ii) 46 &) GamigwGSleiT CLOTVEHENOTH & TEUwTS.

iii) 36 & BMlsv 2_sier epeVdhTn MisefleT cTeRTERTIG DB HTEISTS.

(OR)

b) Write notes on various factors affecting solubility.

smrFnenerl uTHlsG uLGaum srrenflaserts upml Gl suenrs.
35.a) i) Why are thyroid hormones referred as personality hormones?

ii) Define triple fusion

iif) Enumerate the importance of forest.

.i) ewgrmii® anriGLTeTSsT 676 ‘9 EHewL amTiTGLOTETH6T 6T

I &HELILIHSsTmerr?
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(OR)
b) i) List out any three parasitic adaptations of leech

i) Natural selection is a driving force for evolution. How?
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